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[4] There are two identical firms (firm A and firm B) in the mﬁrket, and each has a
cost function TC = 2+Q. The market demand is Q = 13 - P. If they cooperate
and collude, they will set the same price, and split the market demand equally.
If a firm sets a price slightly lower than the other, it takes the whole market
share. Firm B threats Firm A that if he will corporate, but if Firm A cheats once,
then Firm B will set a price such that both earn zero profit for the rest of the
game (this is called a “triggering” strategy in game theory). Now, suppose the
game will be played infinitely, and suppose that the interest rate for each period
is k%.

a. (10%) What will be the market price and the per-period profit for each firm?
b. (20%) Derive the condition such that Firm A will conform to the agreement.

[5] (20%)Suppose the demand for pizza in a small isolated town is P = 10 Q.
There are only two firms, A and B. Each has a cost function TC=2+Q.
Determine the equilibrium quantities of each if firm A is the Stackelberg leader.




